Quiz 9: Woodlot Recreation

* Please note that there is now a $20 testing fee to receive a certificate for each module. If
vou would like to receive a certificate for completing this module, please send a cheque or

money order (payable to the Minister of Finance) along with the completed quiz OR
workbook to Nova Scotia Department of Natural Resources Stewardship and Outreach

P.O. Box 698 Halifax, NS B3J 2T9

Name: Telephone:
Address: E-mail:

Circle the answer that best suits each statement or fill in the blanks.
1. Outdoor recreation may include enjoying the outdoors in a non-physical way. T

2. List 3 benefits of outdoor activities. (3 points)
a)
b)

c)

3. IRM stands for Integrated Recreational Management. T

4. The process of integrating woodlot values involves what 3 questions? (3 points)
a)
b)
c)

5. Taking inventory will help you decide which recreational activities are T
possible on your woodlot.

6. You should ask your neighbours and surrounding community for their T
ideas or about any existing opportunities.

7. Why are more people using Nova Scotia’s private woodlands for recreation?

8. A forest at the pole timber stage provides a better recreational area T
than a forest at a mature stage.
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9. Extraction roads should not be used as recreational trails. T F

10. Outdoor activities should not take place in areas used for T F
wood production.

11. When planning trails for recreation, name two areas you should try to avoid:

12. A looped trail is preferred when users have to return to the same T F
starting point.

13. New routes are best cruised in the fall. T F

14. As a rule of thumb, trail clearance should be 2m (6.56 ft.) wide by T F
2.75m (9.02 ft.) high.

15. Which of the following pairs of activities would be incompatible on the same trail?
a) hiking and skiing
b) snowmobiling and skiing
¢) hiking and motorbiking
d) none of the above
e)bandc

16. What is required from the Nova Scotia Department of Environment when building a new

bridge or culvert?

17. When building a pond, the depth should be at least 2.5 m. T F

18. The first step in promoting wildlife viewing on your woodlot is to T F
improve wildlife habitat.

19. When building a cabin on your woodlot, how far should you build from lakes and major
waterways?

20. You have a right to limit access to your property. T F

21. The occupier has a legal responsibility not to cause harm deliberately T F
or recklessly to any user of the property.

Page 2

V3



